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OHA L4&X 249 30,000
Ox=R28EE wsSHiH 2UHE & S 24
2 o 20,000
OAlUH A 2 &M 29 20,000
Ootrsta 2 ME 29 10,000
307 glz2+ol & 838,000 238,000 600,000
= 300,000
< 50,000
Al 488,000
02 QB AANFEE 600,000 0 600,000
OZANgunszg LESYELE RT2H) 600,000
= 300,000
Al 300,000
09 2HAHAEXS 238,000 238,000 0
OHATHA 238,000
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Al 188,000
HA CHEIXHHl X 640,382 990,000 A 349,618
402 BIZHXHE0| A 640,382 990,000 A 349,618
01 U2 EALEX (XA R) 640,382 990,000 A 349,618
OALHH 2 213,460,400 *3CH 640,382
Tus 22 161,840 26,840 135,000
201 2et2 Y| 1,000 1,000 0
01 At 22l 1,000 1,000 0
OHA HEE™HE 2 1,000
202 O4dl 8,640 8,640 0
01 = LH 4 Hi 8,640 8,640 0
OllsnsE 8,640
203 YR =&l 1,000 1,000 0
03 Al =& 1,000 1,000 0
ollsuns 1,000
207 RO 135,000 0 135,000
01 2739l 135,000 0 135,000
OZANRESEH SIHE =824 135,000
307 gl2tol & 16,200 16,200 0
02 IZtA M AHE X 16,200 16,200 0
ORYE2F s NSt = 5,000
OZYg2d e g2 4,000
Olgd23 WsStdEXE 2,200
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09 2xHAHEELT2 1,439,783 1,439,783 0
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OAUHA 2 AEAZ2(370) 1,243,983
mSaE AlA2e 2,150,216 2,110,960 39,256
101 @121l 71,124 55,517 15,607
04 JI2ZtH2Z2XNHEE 71,124 55,517 15,607
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OWEHA$I =x&E2e 58,164
=-JlE2= 66,8003 x44 x13H 38,210
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— A X 66,8002 *1& x134 869
— 52422 66,8003 *1.5%*8 x13H 10,421
— 2tAlH| 3,000& x44 x13Y 1,716
OotdHAHDIE s83t&4a 22|
66,800& x74L x14 4,944
201 LEt2 A Y| 464,092 454,643 9,449
01 AFR2t2l bl 21,506 23,516 A2,010
Ogst=2H| 11,506
—SE=XE FIA M 1,900& =2, 100 3,990
—OtEHAHIIE SE3&A A2 1,500
—g42= FUE &2 2I=E S 3,000
-8 =UHE 22 22= 1,000
—g48= =S 22X 244
8,000& x18H x 14 2,016
ogxs 6,000
—SY9FIE AAXS 50,000& *15CH x4 3| 3,000
—Z2YEXNE EAMAMNHE T3y 0
500, 0003 *2CH *33] 3,000
Ogs2 A=IE s 4,000
02 =294l 442,586 431,127 11,459
O332= % HA 162,990
—FIeIsE, BES)
26,1103 = 12& *380 0 A 119,062
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28,300& *52 1 A~ x12& 17,660
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—SEFNE 3EFY RA
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—WEASI A2 (MBI, MBS, EES)
,000,000& *95IH &~ 95,000
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,500,000& *70H &~ 105,000
—HASZE RAES 450,000& =457 2~ 20,250
—HAERA QDI & NSCOHHE |RXNE=S 10,000
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O&d&Es 44X £ E=uA 16,000, 000& *5H 80,000
OEHES ZTHEX(LED EZE)
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FH: nEsANZel(MISX/FHLHSKE)
Sl DSAXOISHE BF CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 160,000
< 6,000
Al 1,317,073
201 Let24E] 700 0
01 At 2t 2l 700 0
Ous%Ai OlsEHASIRAAS HFAx=E
000& «10H x 13/ 700
307 glz2tol & 1,146,373 1,069, 76,698
S 6,000
Al 1,140,373
05 RIZHRI &t 3 1,146,373 1,069, 76,698
OSgusEat 223 (200) 1,134,373
OEBusS+H R sda 12,000
= 6,000
Al 6,000
405 XHoHF S HI 336,000 336,000
J| 160,000
Al 176,000
01 et ESFH S 336,000 336,000
OSgus= g =X WA
42,000,000*8CH 336,000
J| 160,000
Al 176,000
HaHAs 24 260,000 240, 20,000
< 26,000
Al 234,000
307 glz2tol & 260,000 240, 20,000
< 26,000
Al 234,000
09 2HAHAEXS 260,000 240, 20,000
OM&aHAs 2 | 20,000,000 = 13CH 260,000
< 26,000
Al 234,000
2sMGH(>SLUE/HEUE JIEH) 344,300 282, 61,774
= 8,961
as 117,000
< 63,560
Al 154,779
NG HE=EH 344,300 282, 61,774
= 8,961
as 117,000
< 63,560
Al 154,779
BHAI2S A RIR 344,300 282, 61,774
= 8,961
as 117,000
< 63,560
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02 2324gHl 12,840 12,840 0
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Al 111,000
307 21201 A 32,000 22,000 10,000
< 16,000
Al 16,000
09 2+=HAHEBEXS 32,000 22,000 10,000
OHANRS IHEZM ==& 32,000
< 16,000
Al 16,000
HY2SAH (SHF D) (IIEH/IIE) 88,900 88,900 0
=&l 88,900 88,900 0
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201 2et2d] 25,200 25,200 0
01 At 22l 25,200 25,200 0
ORNEY Jl=ZHl 25,200
202 Oddl 60,100 60,100 0
01 = LH 4 Hi 60,100 60,100 0
O= L Hi 60,100
203 YR =& 3,600 3,600 0
04 FN2ELSZ=TH 3,600 3,600 0
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